Aignep reserves the right to vary models and dimensions without notice



AIGNEP

METALLIC PUSH-TO-CONNECT FITTINGS 57000
FOR METRIC TUBE




HA|GNEP 57 Series

@ TECHNICAL CHARACTERISTICS

i Reference Standard

1907/2006 2011/65/CE PED 150 SILICON
REACHY ,f 2014/68/UE 14743:2004 FREE
LB

Bar i Pressure Rating ¢ Component Parts and Materials
\\ Vacuum ~ 290 PSI 1 Metallic Release Collet
= i -0.99 bar ~ 20 bar 2 Nickel Plated Brass Body
i -0.099 MPa ~ 2.0 MPa 3 NBRThread Seal
4 Nickel Plated Brass Sleeve
5 303 Stainless Steel Gripper
. . : 6 Technopolymer Safety Ring
Temperatures Rating 7 NBR Molded Seal
NBR 8  Nickel Plated Thread Brass Body
9 NBR Seal
| -4°F~176°F 10 Safety Ring
: -20°C~80°C
¢ Media ¢ Tubing Compatibility

Nylon 6-11-12

( @4 - Pneumatic Automation
: Polyethylene

i« Automotive
i« Textile, Packaging Polyurethane (“98 Shore A for best result)

- Compressed Air Circuit | PTFE
i+ Vacuum E

¢ Applications

i+ Pneumatic Automation
i« Automotive

- Textile, Packaging

i« Compressed Air Circuit
i+ Vacuum

i Advantages
J 1 The 303 Stainless Steel gripper ensures a tight clamp for

tubes of any material without damaging the tube’s surface.
The secure connection between the tube and the fitting
will hold up to severe conditions such as impact and
vibrations.

2 The shape of the safety ring and the molded seal perfectly
i seal off the tube, creating a vacuum.

3 Series with several types of threads:
& SWIFTFIT
BSPP
BSPT

i 4 All straight fittings can be tightened with an Allen wrench
‘ because of our internal hex design. This enables the

end user to tighten the fitting in spaces too small for an
openend wrench.

5  Ourrotating Swivel Elbow fittings are equipped with a safety
ring that enables the fitting to rotate without losing a tight seal.




57 Series

(JAIGNEP

THREADS & ADVANTAGES
SWIFTFIT

Wnlwersal thiosd

One fitting... Endless possibilities

NPT ISO 7 1SO 7 1SO 228
NPTF BSPP BSPT BSP
PT PF
Tapered Parallell Tapered Parallell
. _'1. A
™ — E—— | i~ —

-— @ e

— m— —— — P —
— — — — P —
— L __& — L __& - L __3
Inclined Concave Convex

Our 4 SWIFTFIT universal fittings also work on non-flat surfaces without
compromising an air-tight seal.

BSPP Threads

BSPT Thread with seal
= -;-1
i
b —

The # SWIFTFIT Universal Thread has been designed
to offer the following advantages to the end users:

« Reduced overall length
» Smaller hex dimensions compared to parallel threads
« Fits with various parallel and tapered threads

« All 8 SWIFTFIT fittings have been equipped with threads
and an NBR thread seal that will universally connect to
all thread types.

Torque Specifications

Recommended Torque
Thread Size Min. Max.
1/8 5Nm 7 Nm
1/4 5Nm 7 Nm
3/8 5Nm 7 Nm
1/2 5Nm 7 Nm

The BSPP Thread has been designed
to offer the following advantages to the end users:

« Standard 1SO 228 and ISO R/262

- Designed for use in BSPP connections with an integrated
NBR o-ring that provides a perfect seal

- Completely reusable

Torque Specifications

Recommended Torque
Thread Size Min. Breaking torque
M5 0.8 Nm 0.3 Nm
M7 3Nm 8 Nm
M8 3 Nm 8 Nm
1/8 5Nm 7 Nm
1/4 5Nm 7 Nm
3/8 5Nm 7 Nm
1/2 5Nm 7 Nm

The BSPT Thread has been designed
to offer the following advantages to the end users:

« Standard ISO 7.1, BS 21, DN 2999

« Designed for use in BSPT and BSPP connections with an
integrated NBR thread seal that provides an additional
seal

Torque Specifications

Recommended Torque
Thread Size Min. Breaking torque
1/8 5Nm 7 Nm
1/4 5Nm 7 Nm
3/8 5Nm 7 Nm
1/2 5Nm 7 Nm

2.4



HA'GNEP 57 Series

Part No. Tube A B L CH1 CH2
57000 (5 IFTFIT  g0000-53-02 4(532) 18 216(55) 708(18) 430 180)
STRAIGHT MALE 89000-53-04 4(5/32) 1/4 750 748(19) 551(14) 1180)
57000-6-1/8 6 1/8 216(55) 846215) S1M) 157 ()
57000-6-1/4 6 1/4 25(7) 82621) 551(14) 157 ()
57000-6-3/8 6 3/8 295(7,5) 905(23) 669(17) 157 ()
57000-6-1/2 6 12 354(9) 925(235) 82621) 157 (4)
89000-05-02 8(5/16)  1/8 216(55) 964 (245) 551(14) 1975)
89000-05-04 8(5/16)  1/4 750) 86(22) 551(14) 236(6)
89000-05-06 8(5/16)  3/8 295 (7,5) 905 (23) 669(17) 236(6)
89000-05-08 8(5/16)  1/2 354(9) 925(39) 861) 236(6)
57000-10-1/4 10 1/4 750) 1102 28) 669(17) 750)
57000-10-3/8 10 3/8 295(7,5) 1003 (25,5) 669(17) 3140)
57000-10-1/2 10 12 354(9) 1023 25,5) 8261) 3140)
57000-12-1/4 12 1/4 275(7) 1240 31,9) 78720) 2750)
57000-12-3/8 12 3/8 295(7,5) 1161(29,5) 78720 354(9)
57000-12-12 12 12 354(9) 1240 31,) 82621) 393(10)
57000-14-3/8 14 3/8 295(75) 1279325) 826 21) 354(9)
57000-14-1/2 14 12 354(9) 1240 31,5) 8261) 3%3(10)
57000-16-3/8 16 3/8 295 (7,5) 1397 35,5) 905(23) 3%(10)
57000-16-1/2 16 12 354(9) 1437 36,5) 984(29) M
7 o 1 Part No. Tube A B C L CH
5 0 (S IFTFIT  s0010-53-02 5324 18 21755) 43301 709(18) 180)
STRAIGHT MALE WITH INTERNAL HEX 57010-6-1/8 6 1/8 21755) 4102 867(215) 157 ()
57010-6-1/4 6 1/4 260) 551(14) 8701 157 ()
89010-05-02 5/16(8)  1/8 20755) 551(14) 984(29) 19 (5)
89010-05-04 5/16(8)  1/4 2760) 551(14) 886(229) 236(6)
Part No. Tube A B L1 L2 CH1 CH2 D
89110-53-02 5/32(4) 1/8 21665 708018  J67(195  354(9)  S12(13)  39(10)

394 (10)

(18)
89110-53-04 5/32(4) 1/4 275() 748 (19) 826 (21) 3549
57110-6-1/8 6 1/8 216055 826(21)  846(215  433(1

(
(

1) ( (125)
57110 57110-6-1/4 6 1/4 75(0) 861 05(3) 43011 50(15) 492125
SWIVEL ELBOW 89110-05-02 5/16(8)  1/8  216(55  885(225) 88525  472(1)  S512(13)  571(145)
89110-05-04 5/16(8)  1/4 250)  885(25) 88525 42010 590(15)  571(145)
89110-05-06 5/16(8)  3/8 205075 85025 90503 47202 66907  571(145)
e 89110-05-08 5/16(8) 172 354(9)  885(25) 1003255 472010 86(1)  571(145)
ﬁrm “ﬁ 57110-10-1/4 10 1/4 25(0) 108065 108065 S51(14  629(16)  689(175)
i ?'_‘: 57110-10-3/8 10 3/8 29505 1043(265) 946(45)  S51(14)  669(17)  689(179)
57110-10-1/2 10 12 354(09) 108065 1062Q7) 551014 86(1)  689(175)
57110-12-3/8 12 3/8 29505 12400315 10430265 6906 T80 846(219)
57110-12-1/2 12 12 354090 1240015 114109 69(16) 8601 846215
A 57110-14-3/8 14 3/8 29505 1400315 106207 69016 J87(0)  846(219)
57110-14-1/2 14 12 354(09) 1240015 1161095  629(16)  826(1)  846(215)

57110-16-3/8 16 3/8 29505 130035 1633(415) 748019 984(25) 944 (24)

57110-16-1/2 16 12 3540)  130(35) 1693(43) 74819  984(25) 944 ()

Part No. Tube A B L1 L2 CH1 CH2 D

89210-53-02 5/32(4)  1/8 21655 133834 78700  354(9)  S11(13)  39%(10)

57210 (5 IETEIT 89210-53-04 5/32(4)  1/4 250) 133864 84615 3540 50015 39%(10)
et weses 57210-6-1/8 6 18 2605 1653(4) 8602  AB(N SN 492(129)

SWIVEL BRANCHTEE 57210-6-1/4 6 1/4 50) 1634 95(35  433(1)  590(15)  492(125)
89210-05-02 5/16(8)  1/8  216(5 177145 1003255 S11(13)  S11(13)  571(149)

89210-05-04 5/16(8)  1/4 250)  177165) 1003(255)  S1(13) 590(15)  571(145)

89210-05-06 5/16(8)  3/8  295(5) 1771(45) 103(6)  S1(13)  669(17)  S571(145)

57210-10-1/4 10 1/4 50)  2086(53) 114109 551(14)  629(16)  689(175)

57210-10-3/8 10 3/8 9505 2086(3) 1062027 551014 669(17)  689(17,5)

57210-10-1/2 10 12 354(9)  2086(53)  1161(295)  S551(14)  86(1)  689(175)

57210-12-3/8 12 3/8 9505 2460(625) 1161(295) 629(16)  787(20)  846(21,5)

57210-12-1/2 12 12 354(9)  2460(625) 1259032 629(16) 8601  846(215)

57210-16-3/8 16 3/8 9505 2618(665) 1633(415) 748(19)  984(25)  .944(4)

57210-16-1/2 16 12 354(9)  2618(665) 1693(43) 748019  984(5) 94 (24)

2.5



(JAIGNEP

57222

SWIVEL RUN TEE

57020

STRAIGHT MALE

57010

STRAIGHT MALE WITH INTERNAL HEX

=

57 Series
Part No. Tube A B L1 L2 CH1 CH2 D
89222-53-02 5/32 (4) 1/8 216(5,5) 669 (17) 787(20) 354(9) S11(13) 394(10)
89222-53-04 5/32 (4) 1/4 275(7) 669 (17) 846 (215) 354(9) 590 (15) 394 (10)
57222-6-1/8 6 1/8 216(5,5) 826(21) 866 (22) A33(1) S11(13) 492(125)
57222-6-1/4 6 1/4 25(7) 826(21) 925(23,5) A33(1) 590(15) 492(125)
89222-05-02 5/16 (8) 1/8 216(55) 885(225) 944 (24) S11(13) S11(13) S571(14,5)
89222-05-04 5/16 (8) 1/4 275(7) 885(225) 944 (24) S11(13) 590 (15) 571(145)
89222-05-06  5/16(8)  3/8 20505 88525 106(0)  S1N(3) 6097  571(149)
57222-10-1/4 10 1/4 25(7) 1043(26,5  1.023(26) 551(14) 629(16) 689(17,5)
57222-10-3/8 10 3/8 295(75)  1.043(265)  1.023(26) 551(14) 669 (17) 689(175)
57222-10-1/2 10 1/2 354(9) 1043(265)  1122(285)  .551(14) 826(21) 689(17,5)
57222-12-3/8 12 3/8 295(75 12400315 1.161(295)  .629(16) 787 (20) 847(215)
57222-12-1/2 12 1/2 354(9) 12400315 1259 (32) 629(16) 826(21) 847 (215)
Part No. Tube A B C L CH1 CH2
57020-4-M5 5/32 (4) M5 157 (4) 315(8) 827(21) 394 (10) 079(2)
57020-4-1/8 5/32 (4) 1/8 236 (6) S512(13) 787 (20) 1394 (10) 118(3)
57020-4-1/4 5/32 (4) 1/4 315(8) 630 (16) .768(19,5) 630 (16) 118(3)
57020-4-3/8 5/32 (4) 3/8 315(8) 787 (20) 708 (18) 787 (20) 118(3)
57020-5-M5 5 M5 157 (4) 315(8) 925(23,9) A472(12) 079(2)
57020-5-1/8 5 1/8 236 (6) 512(13) 866 (22) A472(12) 157 (4)
57020-6-M5 6 M5 157 (4) 3940100 965045  512(13) 079(2)
57020-6-1/8 6 1/8 236 (6) 512(13) 925(235) 512(13) 157 (4)
57020-6-1/4 6 1/4 315(8) 630 (16) 925(23,5) 512(13) 157 (4)
57020-6-3/8 6 3/8 354 (9) 787 (20) 984 (25) 512(13) 157 (4)
57020-6-1/2 6 1/2 1394(10) 1984 (25) 1.063 (27) 512(13) 157 (4)
57020-8-1/8 5/16 (8) 1/8 236 (6) S512(13) 984 (25) 551(14) 197 (5)
57020-8-1/4 5/16 (8) 1/4 315(8) 630 (16) 906 (23) 551(14) 236 (6)
57020-8-3/8 5/16 (8) 3/8 354 (9) 787 (20) 945 (24) 551(14) 236 (6)
57020-8-1/2 5/16 (8) 1/2 394 (10) 1984 (25) 1.043 (26,5) 551(14) 236 (6)
57020-10-1/8 10 1/8 216 (5,5) 512(13) 1.181(30) 669 (17) 197 (5)
57020-10-1/4 10 1/4 315(8) G006 1201005 669(17) 236(6)
57020-10-3/8 10 3/8 354(9) 787 (20) 1.083 (27,5 669 (17) 315(8)
57020-10-1/2 10 1/2 1394(10) 1984 (25) 1.063 (27) 669 (17) 315(8)
57020-12-1/4 12 1/4 315(8) 630 (16) 1358 (34,5) 787 (20) 236 (6)
57020-12-3/8 12 3/8 354(9) 787000 1339064 78700 315(8)
57020-12-1/2 12 1/2 1394(10) 1984 (25) 1.220 31) 866 (22) 1394 (10)
57020-14-3/8 14 3/8 354(9) 787 (20) 1378 (35) 827 (21) 394.(10)
57020-14-1/2 14 1/2 394 (10) 1984 (25) 1,260 (32) 866 (22) 394 (10)
57020-16-3/8 16 3/8 319(8,1) 787 (20) 1437 (36,5) 905 (23) 394(10)
57020-16-1/2 16 1/2 375095 1984 (25) 1477 (37,5 1984 (25) 472(12)
57020-4-M6x1 4 Méx1  216(55 47202 7280185 394(10) 11803)
57020-4-M8x1 4 M8x1 216(5,5) 472(12) 728(18,5) :394(10) 18(3)
57020-6-M8X1 6 M8X1 216(5,5) 472(12) 965 (24,5) 512(13) 18(3)
57020-6-M10X1 6 M10X1 216(5,5) 512(13) 905 (23) 512(13) 157 (4)
57020-6-M12x1 6 M12X1 315(8) .591(15) 925(235) 512(13) 157 (4)
57020-6-M12x1.25 6 M12X1,25  315(8) .591(15) 925(235) 512(13) 157 (4)
57020-6-M12x1.5 6 M12X1,5 315(8) 591 (15) 925(23,5) 512(13) 157 (4)
57020-8-M8x1 8 M8X1 216 (5,5) 472(12) 1.003 (25,5) 551(14) 157 (4)
57020-8-M10x1 8 M10X1 216 (5,5) 512(13) 1.003 (25,5 551(14) 157 (4)
57020-8-M12x1.5 8  MI2X1,5  3159) 591015 1083275 551(14) 236/(6)
Part No. Tube A B C L CH
57010-4-M5 5/32(4) M5 141(36) 394 (10) 827(21) 098(25)
57010-4-M7x1 5/32(4) M7x1 188 (4.8) 394 (10) 826(21) 1098 (2,5)
57010-6-M5 6 M5 141036) 472(12) 965 (24,5) 098 (25)

2.6



HA'GNEP 57 Series

s 703 o BSPP Part No. Tube A B L CH
57030-4-M5 5/32 (4) M5 216(5,5) 826(21) 433Mm

3(11)

STRAIGHT FEMALE 57030-4-1/8  5/32(4) 1/8 334(85) 944 (24) S1(13)
57030-4-1/4  5/32(4)  1/4 43301 1082(27,5) 629(16)

57030-5-1/8 5 1/8 334(85) 1.043 (26,5) S1(13)

57030-6-1/8 6 1/8 334(85) 1023 (26) S1(13)

Now 57030-6-1/4 6 1/4 43311 1161(29,5) £29(16)
- 57030-8-1/8  5/16(8)  1/8 334(85) 1062 (27) 590(15)

57030-8-1/4 5/16 (8) 1/4 433 (11) 1.161(29,5) 669 (17)

A 57030-8-3/8 5/16 (8) 3/8 A472(12) 1.259 (32) 748 (19)
57030-10-1/4 10 1/4 43311 125932) 708(18)

57030-10-3/8 10 3/8 a0 1318 33,) 748(19)

57030-10-1/2 10 1/2 2590 (15) 1.535(39) 944 (24)

57030-12-3/8 12 3/8 A472(12) 1417 (36) 826(21)

57030-12-1/2 12 12 590(15) 1614(41) 944 (24)

57030-16-3/8 16 3/8 N0 1614 (47) 944 (24)

57030-16-1/2 16 12 590 (15) 1654 (42) 944 (24)

5 7055 Part No. Tube A B M  Smax CH1  CH2 C D L

57055-4-1/8 4 1/8 334(85) MI2XT  275(7) .591(15) .669(17) .394(10) .748(19) 1.141(29)

FEMALE BULKHEAD CONNECTOR 57055-6-1/8 6 18 3385 M40 315(8) 606 69(7) 30400 8601 121060
. 57055-6-1/4 6 4 4301 M40 315(8) 6006 6907 47202 8601 13003

. D S S Hn 57055-8-1/8 8 1/8 334(85) MI6X1  315(8) .709(18) .748(19) .394(10) .866(22) 1.260 (32)

Y v 57055-8-1/4 8 1/4 433(11)  M16XT  315(8) .709(18) .748(19) .472(12) .866(22) 1.339(34)

q 57055-10-3/8 10 3/8 4102 MUK 37405 S4S(4) 945 (4)  S5T(14) 1003055155 (85)

= r 57055-12-3/8 12 3/8 47012 MK 413(105) 945(4) 10246 S91(15) 1083 (275)1673 (425)

f 1 - 57055-12-1/2 12 1/2 591(15)  M22X1 413(10,5) 945(24) 1.024(26) 669 (17) 1.083(27.5)1.752 (44.5)

Part No. Tube A B L1 L2 CH1 CH2 D
57105

57105-4-1/8 5/32(4)  1/8 3345  J8(8 780 3540 SI(3) 3%

FEMALE ELBOW 57105-4-1/4 5/32(4)  1/4 4307 70808 86Q15 3540 69(18)  3%4(10)
S 57105-6-1/8 6 1/8 334(85) 826(21) 807 (20,5) 433(17) S11(13) 492 (12,9)
o 57105-6-1/4 6 4 30) 86R) 053 4B 6906 42125
) 57105-8-1/8 5/16(8)  1/8 3485 885025 87005 4202  S1(3)  S571(48)

» ] 57105-8-1/4 5/16(8)  1/4  43(1) 85025 9503 4200 69016  S71(149)

3 57105-10-1/4 10 1/4 433(1) 1.043 (26,5 984 (25) 551(14) 748 (19) 669 (17)

= 57105-10-3/8 10 38 4n() 108065 10108  SS104 74809  669(17)

\ 57105-12-12 12 172 59105 10015 135838 6008 9454 78700)

2.7



@A]GNEP 57 Series

Part No. Tube A B L1 L2 CH1 CH2 D
57115

57115-4-M5 5/32(4) M5 18G5 709018  689(175  35409) 3150 3%(10)

SWIVEL ELBOW 57115-4-1/8  5/32(4)  1/8 2705 709018 709018 3549  S12(3)  3%4(10)
57115-4-1/4  5/32(4)  1/4  26(0) 70908 709018  354(9) 60016  3%4(10)
i 57115-5-M5 5 M5 38(3s  JEQ0) Q0 4301 4301 492025
CHt 57115-5-1/8 5 1/8 217(55) 787 (20) 78700 433(11)  512(13)  492(129)
a 57115-6-M5 6 M5 8BS 87Q) Q) 4B() 4B 492(125)
o : 57115-6-1/8 6 18 2765 87Q) Q) 430N 5203 492025
R 57115-6-1/4 6 4 260)  8UQ) M6l 430N 6008  492(125)
57115-6-3/8 6 38 60)  SUQ)  86Q15) 4B 6006  492(125)
_AJ 57115-8-1/8 5/16(8)  1/8 21755 886025 87 Q1) 47202 5203  571(49)
57115-8-1/4  5/16(8)  1/4  26() 8625 86Q15 47200 6006  571(145)
57115-8-3/8 5/16(8)  3/8  315() 886025 9535 402 I 51(49)
57115-8-172  5/16(8) 172 31405 886025 98405 4720 98405 571(149)
57115-10-1/4 10 V4 260) 108065 1004055  SST(4) 63018 689(175)
57115-10-3/8 10 3/8 3158 108065 9405 sS04 78T(0)  689(175)
5711510172 10 12 37405 108065 108065 S04 9405 689(175)
57115-12-1/4 12 V4 260) 101005 L4Q8)  6006 63006 846015
57115-12-3/8 12 38 315) 120015 108320  60(1  J87Q0)  846(215)
57115-12-12 12 12 3405 120015 112085 6006 98405 8460215
57115-14-3/8 14 3/8 3158 120015 108375 60016  J7Q0)  846(215)
571151412 14 12 37405 1400315 L408)  6006 %8405 846015

57115-16-3/8 16 38 315(8) 130635 15560)  748(19)  984Q5)  %45(4)

57115-16-12 16 12 3405 130035 16345 8019 9405 945 04)

57115-4-Méx1 4 Méx1 13835 689075 709018 3540 3156 39%(10)

57115-4-M8x1 4 M8X1  217(55)  689(75)  J09(18) 3540 41202 394(10)

57115-6-M10x1 6 MI1OXT  26() 8701 86015 4B 5003 4202
57115-6-M12x1 6 MI2x1 29505 787000 8662 4301 808  492(125)
ST15-6MI2X1,25 6 MI2x1,25 29505 J87Q0) 8660 B0 6008  492(129)
571156-M12x1,5 6 MI2x1,5 29505 78700  866(2)  43(1)  630(16  492(125)
57115-8M12x1,5 8  MI2x1,5 29505 88625  866Q) 41202 806  571(149)

Part No. Tube A B L1 L2 CH1 CH2 D
57125

57125-4-1/8 5/32(4) 1/8 217(5,5) 709 (18) 1.181(30) 354(9) 472(12) 394(10)
SWIVEL ELBOW 57125-4-1/4  5/32(4)  1/4  26() 0908 1260G) 3540 591015 3%4(10)
57125-5-1/8 5 18 21765 JEQ0) 138045 4B(1) 4202 492025
57125-6-1/8 6 1/8 217(5,5) 827 (21) 1358 (34,9 433(11) 472(12) 492 (12,5)
57125-6-1/4 6 4 260)  8UQ) 14706 430N 59105 492(125)
57125-8-1/8 5/16(8)  1/8  .197(5) 898(28 1476075 4001 4002 571(145)
57125-8-1/4 5/16(8)  1/4  26() 88625 14%0G8) 47202  S91(15)  571(145)
57125-8-3/8 5/16(8) 3/8 315(8) 886(22,5) 1.575 (40) 472(12) 709 (18) 571(14,5)
57125-10-1/4 10 4 260) 108065 17265 SST04) 63006 689 (175)
57125-103/8 10 3/8 3158 108065 175245 SST(4) 709018 689(175)

2.8



gA]GNEP 57 Series

Part No. Tube A B L1 L2 CH1 CH2 D
5721 5 57215-4-M5 5/32 (4) M5 138(3,5) 1339(34) 709 (18) 354(9) 315(8) 394(10)
SWIVEL BRANCH TEE 57215-4-1/8 5/32(4)  1/8 2765 139064 7885 340 SR(Y 39410
57215-4-1/4  5/32 (4) 1/4 276 (7) 133934) 787 (20) 354(9) 630(16) 394(10)
57215-5-M5 5 M5 138(35) 1575 (40) 807(20,5) A33(11) A33(1) 492(125)
57215-5-1/8 5 8 765 1SSW) ST AB() S 429
57215-6-M5 6 M5 %65 1) S5 AB0) 4B 4209
57215-6-1/8 6 18 765 i) S5 4B S0y 42029
57215-6-1/4 6 1/4 26(7) 1654 (42) 866 (22) A33(11) 630(16) 492(125)
57215-8-1/8 5/16(8) 1/8 217(55) 1772 (45) 925(23,9) 512(13) 512(13) S51(145)
57215-8-1/4 5/16(8)  1/4 60 UneS) uspH  S() 6008 S571(49)
57215-8-3/8 5/16(8)  3/8 5@ e e S() Q) STI49)
57215-8-1/2 5/16(8) 1/2 374(9,5) 1772 (45) 1083 (27,5) 512(13) 984(29) S571(145)
57215-10-1/4 10 1/4 60 @) OBEY S0 600 69(179)
57215-10-3/8 10 3/8 5@ 208 108Q) S0 ) 69(179)
57215-10-12 10 12 365 20873 LIRS S04 W 69178
57215-12-3/8 12 3/8 315(8) 2461(625)  1.161(295) 630(16) 787(20) 846(215)
57215-12-1/2 12 1/2 374(9,5) 2461(62,9) 1.220(31) 630(16) 984(29) 846(215)
57215-14-3/8 14 3/8 5@ 616 161095 s0(8)  JQ0 (1)
57215-14-12 14 12 365 6165 12061 6006 B s6(1S)
57215-16-3/8 16 3/8 315(8) 2.618 (66,5) 1.575 (40) 748 (19) 984 (25) 945 (24)
57215-16-12 16 12 3105 26180665 16850615 748019 9 94504
57215-6-M12x1 6 MI2x1 29505  1644) 60D 4B 6006 4920129)
ST215-6-MI2K125 6 MI12x1,25 29505 16544 866(2) 4B 6006  4920129)
57215-6-M12x1.5 6 M12x1,5  295(75) 1654 (42) 866 (22) A33(1) 630 (16) 492(125)
Part No. Tube A B L1 L2 CH1 CH2 D
57225
57225-4-M5 5/32 (4) M5 138(3,5) 669 (17) 709 (18) 354(9) 315(8) 394(10)
SWIVEL RUN TEE 57225-4-1/8 5/32(4)  1/8 2765 6907 JBU8S) 340 5203 3%4(10)
; , 57225-4-1/4 5/32(4)  1/4 260 s907)  Jm@) 340 609 3%(0
8 57225-5-M5 5 M5 138(35) 787 (20) 807(20,5) A33(11) A33(1) 492(125)
o cr2 57225-5-1/8 5 1/8 2765 Q) W5 4B S 492025
= j 57225-6-M5 6 M5 %65 &IQ) TS 4B() 4B 42029
) 57225-6-1/8 6 18 765 &IQ) A5 4B S0y 42029
har 57225-6-1/4 6 1/4 26(7) 827 () 866 (22) A33(11) 63(16) 492(125)
E 57225-8-1/8 5/16(8)  1/8 7G5 8625 865  S203) 5203 S1(49)
57225-8-1/4 5/16(8)  1/4 760 8625 w6 S 808 S5T149)
’ 57225-8-3/8 5/16(8)  3/8 5@ 865 @) SuM) Q) STI49)
57225-8-1/2 5/16(8) 1/2 374(9,5) 886(225) 1.043(26,5) 512(13) 984(29) 571(145)
57225-10-1/4 10 1/4 60 10BQ6S  108Q) S0 &0 69(179)
57225-10-3/8 10 3/8 5@ 108065 10BQsS) S04 JQ)  69(179)
57225-10-12 10 12 365 108065 L0 S04 B 690175
57225-12-3/8 12 3/8 315(8) 1240(315)  1.161(29,9) 63(16) 787 (20) 846(215)
57225-12-12 12 12 e 10815 100) 806 %) s60s)
57225-6-M12x1 6 MI2x1 2505 8700 %60)  4B0) 08 492029)
S7225-6-MI26125 6 MI2x1,25 29505 8700 86 4B0) &0  492029)
57225-6-M12x1.5 6 M12x1,5  295(75) 827 () 866 (22) A33(1) 63(16) 492(125)
Part No. Tube A B C CH1 CH2 D
57326
57326-4-1/8 5/32(4) 1/8 217 (5,5) 1.280 (32,5) S511(13) 433(11) 394 (10)
Y-CONNECTOR MALE ADAPTOR (PARALLEL) 57326-6-1/8 6 1/8 2765 14667 SI(3) S 4920128
c 57326-6-1/4 6 1/4 275(7) 1516 (38,5) 629 (16) S11(13) 492 (12,5)
74% 57326-8-1/8 5/16(8) 1/8 217 (5,5) 1.594 (40,5) S511(13) 590 (15) 551(14)
: 57326-8-1/4 5/16(8)  1/4 750) 164@) 6906 50015 551014
57326-8-3/8 5/16(8)  3/8 314() 1630 80 S005)  551(04)
] CH2 G
CH1
]
A

2.9



@A]GNEP 57 Series

Part No. Tube A B L1 L2 CH D
57100

57100-4-M5  5/32 (4) M5 197 (5) 669 (17) .591(19) 3549 394 (10)

FIXED ELBOW " 57100-4-1/8  5/32(4) 1/8 29505 6907 61055 3400 3%00)
571005-M5 5 M5 W R 90 A0 49200

CH %ﬂl 57100-5-1/8 5 1/8 295(7,5) 787 (20) 689 (17,5) A33(1) 492(12,5)

3 - 57100-61/8 6 Y8 505 s0)  s95) ) A1)

N . 57100-61/4 6 V4 BO) Q) 8RS MB0) 40129
- - 57100-8-1/8  5/16 (8) 1/8 295(7,5) 886(22,5) 748(19) 512(13) 551(14)
57100-8-1/4 5/16 (8) 1/4 433(1) 886 (22,5) 846 (21,5) S512(13) 551(14)

. 57100-10-1/4 10 V4 4B 0865 %S5 600 669(1)
57100-103/8 10 38 4B 0B65) MRy 606 669(1)

57100-12-1/4 12 V4 B0 01605 10108 4809 86(19)

57100-12-3/8 12 3/8 453 (11,5) 1.201(30,5) 1.201(28) 748 (19) 846 (21,5)

Part No. Tube A B L1 L2 CH D
57200

57200-4-M5 5/32(4) M5 197 (5) 1339 (34) 591(19) 354(9) 394 (10)
FIXED BRANCHTEE 57200-4-1/8 5/32(4)  1/8 2505 13964 61(59) 354(9) 304 (10)
57200-5-1/8 5 1/8 295(75) 157500 689(175) 4B 492(125)
57200-6-1/8 6 1/8 295(7,9) 16544 6890175 430N 492(129)
57200-8-1/8 5/16(8)  1/8 295(7,9) 1772(45) 748(19) 51203) 551(14)
57200-8-1/4 5/16 (8) 1/4 433 (11) 1.772 (45) 846 (219 512(13) 551(14)
57200-10-1/4 10 1/4 433(17) 2087(53) 965 (245) £306) 669(17)
57200-10-3/8 10 3/8 43015 2087 (53) 945 (24) £3(16) 669(17)
57200-12-1/4 12 1/4 4330 2061 1102(8) 74809 846(2159)
57200-12-3/8 12 3/8 453 (119 2402 (61) 1102 (28) 748 (19) 846 (21,5)
Part No. Tube Tube L B
57040 89040-53  5/32(4) 5/32(4) 1.200 30,5) 413(105)
UNION 57040-5 5 5 1299 (33) 453(119)
57040-6-4 6  5/32(4) 1259 (32) 492 (1259)
57040-6 6 6 1338(34) 492 (1259)
57040-8-6 5/16 (8) 6 1377 (39) 571(14,5)
89040-05  5/16(8) 5/16(8) 1417 36) 571(145)
57040-10-8 10 5/16(8) 1,594 (40,5) £89(17,9)
57040-10 10 10 1653 (42) £89(17,9)
57040-12-10 12 10 1791 (45,5) 807 (205)
57040-12 12 12 1850 (47) 807 (20,5)
57040-14 14 14 1929 (49) 846(21,9)
57040-16 16 16 2146 (54,9) 945 (24)
Part No. Tube ] L CH A max
57050 89050-53 5/32(4) M12x1 1.240 (31,5) 669 (17) 275(7)
BULKHEAD UNION 57050-5 5 M14x1 1299 33) 669 (17) 750)
t 57050-6 6 M14x1 1377 (35) 669 (17) 374(9,5)
A e 57050-8-6 5/16(8)-6 M16x1 1456 (37) 748(19) 413(105)
o 89050-05  5/16(8) M16x1 1456 (37) 748 (19) A13(105)
57050-10-6  10-6  M20x1 1693 (43) 945 (24) 453(119)
- W 57050-10-8 10-5/16(8) M20x1 1693 (43) 945 (24) 492(125)
1 57050-10 10 M20x1 1.692 (42) 944 (24) 492 (12,9)
57050-12 12 M22x1 1,889 (48) 1023 (26) £49(165)

Part No. Tube L D CH1 CH2 CH3
57465

57465-6 6 1949 (495) 490129) S11) 69(1) 69(17)
BULKHEAD CONNECTOR 574658  5/16(8)  2047(5) 551(14) 551(14) 748.(19) 748(19)
o 57465-10 10 228 (59) §9017) 319 945 () 945 04)

N

CHZE] ﬂ

CH1 S

oD

2.10



gA]GNEP 57 Series
Part No. Tube M L1 L2 H  CH1  CH2  Amax D
57060 57060-4  5/32(4) MI12x1  69(175) 102406 3540)  SS1(14) 66907  B6(6)  3%4(10)
SWIVEL ELBOW BULKHEAD 57060-6 6 M14xT  846Q15) 12031) 43011  66(17) 669017 256(65) 4%2(125)
57060-8  5/16(8) Mi6x1 8602 133904 4202 70908 74809 25665 5710145
57060-10 10 M20xT 108065 147766 55104 86602 4SQ4) 29505 689(175)
57060-12 12 M22x1 1201005) 1693(43) 63(16) 9454 1014(6) 3%4(9) 846(219)
57060-14 14 M23x1  1201305) 1693(43) 63(16)  984(25) 1063(27) 374095 846(219)
Part No. Tube L CH D
57130 89130-53  5/32(4) 669 (17) 354(9) 394 (10)
UNION ELBOW 57130-5 5 787 (20) 433011) 492(125)
L 57130-6 6 826 21) 433(11) 492(125)
89130-05  5/16 (8) 885 (22,5) 511013) 571(145)
) 57130-10 10 1043 (26,5) 629(16) 689(175)
57130-12 12 1,200 (30,5) 748(19) 846(215)
57130-14 14 1279 (325) 748(19) 846(21,5)
57130-16 16 1320 (335) 748(19) 945 (24)

2 Part No. Tube L1 L2 CH D
57230 89230-53  5/32(4) 1338 34) 669(17) 354(9) 394(10)
UNIONTEE 57230-5 5 1,574 (40) 78700) 43307) 492(129)

57230-6 6 1653 (42) 826 21) 433(17) 492(125)
89230-05  5/16 (8) 1771 (49) 885 (22,5) 51103) 551(14)
57230-10 10 2086 (53) 1043 (265) 629(16) 669(17)
57230-12 12 2401 (61) 1200 305) 748.19) 847 (215)
57230-14 14 2578(65,9) 1279.325) 748.19) 847215)
57230-16 16 2618 (66,5) 1299 (33) 748 (19) 945 (24)
Part No. Tube A L CH D
57310 89310-53  5/32 (4) 433(11) 1259(32) 43307) 394 (10)
UNIONY 57310-5 5 531(135) 1377 (35) S1113) 4920129)
) s N 57310-6 6 531(139) 1437 365) 51103) 492(129)
[T 89310-05  5/16(8) 610(155) 1614 (41) 590 (15) 551(14)
57310-10 10 728(189) 1889 (43) 708 18) 669(17)
oH Part No. Tube A B L CH D
89500-53-32 5/32(4) M5 492(129) 748.19) . 394(10)
Lot | 57500-4-M6 5/32(4) M6 492(129) 748.19) 394 (10)
0 89500-53-02 5/32(4) 1/8 591(15) 82701) 551 (14) 394 (10)
57500-5-M5 5 M5 492(129) 787 00) . 492(125)
57500-5-M6 5 M6 492 (125) 787 00) . 492(125)
57500 57500-5-1/8 5 1/8 591(15) 846 (21,5) 551 (14) 492(125)
SINGLE BANJO BODY 57500-5-1/4 5 1/4 669 (17) 965 (24,5) 709(18) 492(125)
. 57500-6-M5 6 M5 492(129) 807 20,5) . 492(125)
o 57500-6-M6 6 M6 492(125) 807(205) - 492(125)
V—HW 57500-6-1/8 6 1/8 591(15) 866 (22) 551(14) 492(125)
- 3 57500-6-1/4 6 1/4 669(17) 984(25) 70918) 492(129)
57500-8-1/8 5/16(8)  1/8 591(15) 945 (4) 551 (14) 551(14)
. 57500-8-1/4 5/16(8)  1/4 669 (17) 1024 (26) 709(18) 551(14)
57500-8-3/8 5/16(8)  3/8 787(20) 110228) 82701) 551(14)
57500-10-1/4 10 1/4 869(17) 1142(9) 70918) 669(17)
57500-10-3/8 10 3/8 787 00) 1201(305) 82701) 669(17)
57500-12-3/8 12 3/8 787 00) 1280 (325) 82701) 846 (21,5)
57500-12-1/2 12 12 945 (24) 1378.39) 984(25) 846 (21,5)
57500-14-1/2 14 12 945 (24) 1398 (35,5) 984 (25) 846 (21,5)

For BANJO STEM assemblies see 10.7/10.8/10.9




@A]GNEP 57 Series
Part No. Tube A B L CH D
5 75 1 o 57510-4-M5  5/32 (4) M5 492 (12,5) 1.496 (38) - 394 (10)
DOUBLE BANJO BODY . 57510-4-M6 5/32(4) M6 492(129) 1496 (33) - 394(10)
57510-4-1/8 5/32(4)  1/8 591(19) 1654 (42) 551(14) 394(10)
57510-5-1/8 5 1/8 591 (15) 1.693 (43) 551(14) 492 (12,9
| 575105174 5 1/4 669(17) 1929 (49) 709(18) 492(125)
57510-6-1/8 6 18 591(19) 1732 (44) 551(14) 492(125)
57510-6-1/4 6 1/4 669(17) 1969 (50) 709(18) 492(125)
57510-8-1/8 5/16(8) 1/8 591 (15) 1.890 (48) 551(14) 551(14)
57510-8-1/4 5/16(8)  1/4 669(17) 2047 (52) 709(18) 551(14)
For BANJO STEM assemblies see 10.7/10.8/10.9
Part No. D A B L L1 CH
50600 50600-4-M5 5/32(4) M5 157 @) 945 (24) 591(19) 3150)
STANDPIPE ) 50600-4-1/8 5/32(4)  1/8 266) 1043 (265) 591(15) 512 (13)
50600-5-M5 5 M5 157 ) 1024 26) 669(17) 3150)
]I m 50600-5-1/8 5 18 26(6) 1122085) 669(17) 512(13)
I - - 50600-5-1/4 5 1/4 315(8) 1.220 (31) 669 (17) 630 (16)
! - CH 50600-6-M5 6 M5 157 () 1024 26) 669(17) 350)
| 50600-6-1/8 6 18 26(6) 1122085) 669(17) s12(13)
o 50600-6-1/4 6 1/4 315 1220 (31) 669(17) £0(16)
50600-8-1/8 5/16 (8) 1/8 236 (6) 1.161(29,5) 709 (18) 512(13)
A 50600-8-1/4 5/16(8)  1/4 3159 1260 (32) 709(18) 630(16)
50600-8-3/8 5/16(8)  3/8 354(9) 1319.33,5) 709(18) 787 20)
50600-10-1/8 10 18 236(6) 1319.33,5) 866(22) 512(13)
50600-10-1/4 10 1/4 315(8) 1417 (36) 866(22) 630 (16)
50600-10-3/8 10 3/8 354(9) 1476 37,5 866(22) 787 20)
50600-10-12 10 12 394(10) 1555 (39,5) 866(22) 945 24)
50600-12-1/4 12 1/4 315 1516 (38,5) 965 (245) £0(16)
50600-12-3/8 12 3/8 354(9) 1.575 (40) 965 (24,5) 787 (20)
50600-14-1/2 14 1/2 394.(10) 1732 (44) 1.043 (26,5 945 (24)
Part No. D G L L1
57610 . 57610-4  5/32(4) 3158) 1004 (25,5) 728(185)
PLUG : ] 57610-5 5 3159) 1063 (27) 787 20)
| | 57610-6 6 315) 1083 (27,9 807(205)
i J 576108  5/16(8) 4n(12) 1161(29,5) 846(15)
| — 57610-10 10 472(12) 1.280 (32,5) 964 (24,5)
,_.h',:l" || 57610-12 12 630(16) 1437 36,) 1083 27,9)
) - :( 57610-14 14 £0(16) 1437 36,) 1043 26,)
s |
Part No. Tube L
50625 50625-4  5/32(4) 122031)
DOUBLEJOINT - 50625-5 5 1299 (33)
| 50625-6 6 133934)
! 506258  5/16(8) 1417 36)
| 50625-10 10 1772 (45)
- | 50625-12 12 1969 (50)
I
]
I
- R |
Part No. A B L D
57700 0 57700-5-4 5 5/32(4) 1142 (29) 413(105)
TUBE REDUCER ) 57700-6-4 6 5/32(4) 1181 30) 413(109)
j 57700-6-5 6 5 1260 (32) 435 (1105)
89700-05-53 5/16(8) 5/32(4) 1300 (33) 413(105)
5770086 5/16(8) 6 1339 34) 551(14)
57700-10-4 10 5/32(4) 1260 32) 394 (10)
- 57700-10-6 10 6 1476 37,5 492(129)
57700-10-8 10 5/16(8) 1496 (39) 571(145)
57700-12-8 12 516() 1535 (39) 571(145)
1693 (43) 690 (17,9

57700-12-10 12 10
A

2.12



(JAIGNEP

50980

SECURITY CLIP

50991

TOOL FOR DISASSEMBLING

50006

THREAD PACKING FOR THE SWIFTFIT TAPER THREADS

ocm

57 Series

Part No. Tube
50980-53 5/32 (4)
50980-04 1/4 (6)
50980-05 5/16 (8)
50980-06 3/8(10)
50980-08 1/2(12)

Part No.

50991

Part No. Thread
50006-02 1/8
50006-04 1/4
50006-06 3/8
50006-08 1/2

2.13



@A|GNEP 57 Series
NOTES

2.14



